LV.A-AS-SST-VD Bz elesa TOHATSU

Bk - AHRR
6us)

L1
|
1

[ 1212 BhiBER -
ME |G| ME |(ME| BE D
PAHIRAE | B2 | SUS304 | NBR | EECATO

L. [BEE BABE

s st D | d L |1t 1 T | HE N

EF

184101 |LV.A-60-14-AS-SST-M8x43-VD 60 | M8 76 79 43 | 33 | 24 | 14 14 14000

184103 |LV.A-60-14-AS-SST-M8x68-VD 60 | M8 | 101 | 104 68 | 33 | 24 | 14 14 14000

184111 |LV.A-60-14-AS-SST-M10x43-VD 60 | M10 | 76 79 43 | 33 | 24 | 14 14 14000

184113 |LV.A-60-14-AS-SST-M10x68-VD 60 | M10 | 101 | 104 68 | 33 | 24 | 14 14 14000

184115 |LV.A-60-14-AS-SST-M10x98-VD 60 | M10 | 131 | 134 98 | 33 | 24 | 14 14 14000

184121 |LV.A-60-14-AS-SST-M12x43-VD 60 | M12 | 76 79 43 | 33 | 24 | 14 14 14000

184123 | LV.A-60-14-AS-SST-M12x68-VD 60 | M12 | 101 | 104 68 | 33 | 24 | 14 14 14000

184125 |LV.A-60-14-AS-SST-M12x98-VD 60 | M12 | 131 | 134 98 | 33 | 24 | 14 14 14000

184131 |LV.A-60-14-AS-SST-M14x68-VD 60 | M14 | 101 | 104 68 | 33 | 24 | 14 14 14000

184133 | LV.A-60-14-AS-SST-M14x98-VD 60 | M14 | 131 | 134 98 | 33 | 24 | 14 14 14000

184135 |LV.A-60-14-AS-SST-M14x148-VD | 60 | M14 | 181 | 184 | 148 | 33 | 24 | 14 14 14000

184141 |LV.A-60-14-AS-SST-M16x68-VD 60 | M16 | 101 | 104 68 | 33 | 24 | 16 14 14000

184143 |LV.A-60-14-AS-SST-M16x108-VD | 60 | M16 | 141 | 144 | 108 | 33 | 24 | 16 14 14000

184147 |LV.A-60-14-AS-SST-M16x168-VD | 60 | M16 | 201 | 204 | 168 | 33 | 24 | 16 14 14000

184151 |LV.A-60-24-AS-SST-M16x58-VD 60 | M16 | 101 | 104 58 | 43 | 24 | 24 24 18000

184153 | LV.A-60-24-AS-SST-M16x98-VD 60 | M16 | 141 | 144 98 | 43 | 24 | 24 24 18000

184155 | LV.A-60-24-AS-SST-M16x138-VD | 60 | M16 | 181 | 184 | 138 | 43 | 24 | 24 24 18000

184157 |LV.A-60-24-AS-SST-M16x158-VD | 60 | M16 | 201 | 204 | 158 | 43 | 24 | 24 24 18000

184161 |LV.A-60-24-AS-SST-M20x98-VD 60 | M20 | 141 | 144 98 | 43 | 24 | 24 24 18000

184163 |LV.A-60-24-AS-SST-M20x138-VD | 60 | M20 | 181 | 184 | 138 | 43 | 24 | 24 24 18000

184165 |LV.A-60-24-AS-SST-M20x158-VD | 60 | M20 | 201 | 204 | 158 | 43 | 24 | 24 24 18000

184167 | LV.A-60-24-AS-SST-M20x198-VD | 60 | M20 | 241 | 244 | 198 | 43 | 24 | 24 24 18000

184171 |LV.A-60-24-AS-SST-M24x98-VD 60 | M24 | 141 | 144 98 | 43 | 24 | 24 24 18000

184173 |LV.A-60-24-AS-SST-M24x158-VD | 60 | M24 | 201 | 204 | 158 | 43 | 24 | 24 24 18000

184175 |LV.A-60-24-AS-SST-M24x198-VD | 60 | M24 | 241 | 244 | 198 | 43 | 24 | 24 24 18000

2
g
82
94
91
104
118
101
119
141
142
163
246
164
218
184145 |LV.A-60-14-AS-SST-M16x148-VD | 60 | M16 | 181 | 184 | 148 | 33 | 24 | 16 14 14000 271
298
227
279
330
358
351
431
471
556
451
626
47
81

184201 |LV.A-70-14-AS-SST-M8x43-VD 70 | M8 71 74| 43 1 28 | 19 | 14 14 14000

184203 | LV.A-70-14-AS-SST-M8x68-VD 70 | M8 9% | 99 68 | 28 | 19 | 14 14 14000 93

184211 |LV.A-70-14-AS-SST-M10x43-VD 70 | MIO| T1 74| 431 28 | 19 | 14 14 14000 90

184213 |LV.A-70-14-AS-SST-M10x68-VD 70 | MI0O | 96 99 68 | 28 | 19 | 14 14 14000 103

184215 | LV.A-70-14-AS-SST-M10x98-VD 70 | M10 | 126 | 129 98 | 28 | 19 | 14 14 14000 117

184221 |LV.A-70-14-AS-SST-M12x43-VD 70 | MI12 | T1 74| 43 1 28 | 19 | 14 14 14000 100

184223 | LV.A-70-14-AS-SST-M12x68-VD 70 | M12 | 96 99 68 | 28 | 19 | 14 14 14000 118

184225 | LV.A-70-14-AS-SST-M12x98-VD 70 | M12 | 126 | 129 98 | 28 | 19 | 14 14 14000 140

184231 |LV.A-70-14-AS-SST-M14x68-VD 70 | M14 | 96 99 68 | 28 | 19 | 14 14 14000 141

184233 | LV.A-70-14-AS-SST-M14x98-VD 70 | M14 | 126 | 129 98 | 28 | 19 | 14 14 14000 162

184235 |LV.A-70-14-AS-SST-M14x148-VD | 70 | M14 | 176 | 179 | 148 | 28 | 19 | 14 14 14000 245

184241 |LV.A-70-14-AS-SST-M16x68-VD | 70 | M16 | 96 | 99 68 | 28 | 19 | 16 14 14000 163

184243 |LV.A-70-14-AS-SST-M16x108-VD | 70 | M16 | 136 | 139 | 108 | 28 | 19 | 16 14 14000 217

184245 |LV.A-70-14-AS-SST-M16x148-VD | 70 | M16 | 176 | 179 | 148 | 28 | 19 | 16 14 14000 270

184247 |LV.A-70-14-AS-SST-M16x168-VD | 70 | M16 | 196 | 199 | 168 | 28 | 19 | 16 14 14000 297

184301 |LV.A-80-14-AS-SST-M8x43-VD 80 | M8 76 79 43 | 33 | 24 | 14 14 16000 110

184303 | LV.A-80-14-AS-SST-M8x68-VD 80 | M8 | 101 | 104 68 | 33 | 24 | 14 14 16000 122

184311 |LV.A-80-14-AS-SST-M10x43-VD 80 | MI0O | 76 79 43 | 33 | 24 | 14 14 16000 119

184313 | LV.A-80-14-AS-SST-M10x68-VD 80 | M10 | 101 | 104 68 | 33 | 24 | 14 14 16000 132

184315 | LV.A-80-14-AS-SST-M10x98-VD 80 | M10 | 131 | 134 98 | 33 | 24 | 14 14 16000 146

DD D DD DD B DD B DD D DB DD | DD DD B D D B D D B D | D D B D> D B D B D D | D D> D

184321 |LV.A-80-14-AS-SST-M12x43-VD 80 | MI12 | 76 79 43 1 33 ] 24 | 14 14 16000 129




LV.A-AS-SST-VD Bz elesa TOHATSU

Bk - AHRR

= s BRX BANE HE |
sk fst D|d|Lju|Ljl|h|s |5 ?ﬁﬂ(m = Ez

g
184323 | LV.A-80-14-AS-SST-M12x68-VD 80 | M12 | 101 | 104 68 | 33 | 24 | 14 14 16000 147
184325 | LV.A-80-14-AS-SST-M12x98-VD 80 | M12 | 131 | 134 98 | 33 | 24 | 14 14 16000 169
184331 |LV.A-80-14-AS-SST-M14x68-VD 80 | M14 | 101 | 104 68 | 33 | 24 | 14 14 16000 170
184333 | LV.A-80-14-AS-SST-M14x98-VD 80 | M14 | 131 | 134 98 | 33 | 24 | 14 14 16000 191
184335 |LV.A-80-14-AS-SST-M14x148-VD | 80 | M14 | 181 | 184 | 148 | 33 | 24 | 14 14 16000 274
184341 |LV.A-80-14-AS-SST-M16x68-VD 80 | M16 | 101 | 104 68 | 33 | 24 | 16 14 16000 192
184343 |LV.A-80-14-AS-SST-M16x108-VD | 80 | M16 | 141 | 144 | 108 | 33 | 24 | 16 14 16000 246
184345 |LV.A-80-14-AS-SST-M16x148-VD | 80 | M16 | 181 | 184 | 148 | 33 | 24 | 16 14 16000 299
184347 |LV.A-80-14-AS-SST-M16x168-VD | 80 | M16 | 201 | 204 | 168 | 33 | 24 | 16 14 16000 326
184351 |LV.A-80-24-AS-SST-M16x58-VD 80 | M16 | 101 | 104 58 | 43 | 24 | 24 24 18000 254
184353 | LV.A-80-24-AS-SST-M16x98-VD 80 | M16 | 141 | 144 98 | 43 | 24 | 24 24 18000 306
184355 | LV.A-80-24-AS-SST-M16x138-VD | 80 | M16 | 181 | 184 | 138 | 43 | 24 | 24 24 18000 357
184357 |LV.A-80-24-AS-SST-M16x158-VD | 80 | M16 | 201 | 204 | 158 | 43 | 24 | 24 24 18000 385
184361 | LV.A-80-24-AS-SST-M20x98-VD 80 | M20 | 141 | 144 98 | 43 | 24 | 24 24 18000 378
184363 |LV.A-80-24-AS-SST-M20x138-VD | 80 | M20 | 181 | 184 | 138 | 43 | 24 | 24 24 18000 | 458
184365 |LV.A-80-24-AS-SST-M20x158-VD | 80 | M20 | 201 | 204 | 158 | 43 | 24 | 24 24 18000 | 498
184367 |LV.A-80-24-AS-SST-M20x198-VD | 80 | M20 | 241 | 244 | 198 | 43 | 24 | 24 24 18000 | 583
184371 | LV.A-80-24-AS-SST-M24x98-VD 80 | M24 | 141 | 144 98 | 43 | 24 | 24 24 18000 | 478
184373 |LV.A-80-24-AS-SST-M24x158-VD | 80 | M24 | 201 | 204 | 158 | 43 | 24 | 24 24 18000 653
184375 |LV.A-80-24-AS-SST-M24x198-VD | 80 | M24 | 241 | 244 | 198 | 43 | 24 | 24 24 18000 774
184401 |LV.A-100-14-AS-SST-M8x43-VD | 100 | M8 76 79 43 | 33 | 24 | 14 14 18000 146
184403 |LV.A-100-14-AS-SST-M8x68-VD | 100 | M8 | 101 | 104 68 | 33 | 24 | 14 14 18000 158
184411 |LV.A-100-14-AS-SST-M10x43-VD | 100 | M10 | 76 79 43 | 33 | 24 | 14 14 18000 155
184413 |LV.A-100-14-AS-SST-M10x68-VD | 100 | M10 | 101 | 104 68 | 33 | 24 | 14 14 18000 167
184415 |LV.A-100-14-AS-SST-M10x98-VD | 100 | M10 | 131 | 134 98 | 33 | 24 | 14 14 18000 181
184421 |LV.A-100-14-AS-SST-M12x43-VD | 100 | M12 | 76 79 43 | 33 | 24 | 14 14 18000 165
184423 |LV.A-100-14-AS-SST-M12x68-VD | 100 | M12 | 101 | 104 68 | 33 | 24 | 14 14 18000 182
184425 |LV.A-100-14-AS-SST-M12x98-VD | 100 | M12 | 131 | 134 98 | 33 | 24 | 14 14 18000 203
184431 |LV.A-100-14-AS-SST-M14x68-VD | 100 | M14 | 101 | 104 68 | 33 | 24 | 14 14 18000 204
184433 | LV.A-100-14-AS-SST-M14x98-VD | 100 | M14 | 131 | 134 98 | 33 | 24 | 14 14 18000 225
184435 |LV.A-100-14-AS-SST-M14x148-VD| 100 | M14 | 181 | 184 | 148 | 33 | 24 | 14 14 18000 308
184441 |LV.A-100-14-AS-SST-M16x68-VD | 100 | M16 | 101 | 104 68 | 33 | 24 | 16 14 18000 226
184443 |LV.A-100-14-AS-SST-M16x108-VD| 100 | M16 | 141 | 144 | 108 | 33 | 24 | 16 14 18000 278
184445 |LV.A-100-14-AS-SST-M16x148-VD| 100 | M16 | 181 | 184 | 148 | 33 | 24 | 16 14 18000 330
184447 |LV.A-100-14-AS-SST-M16x168-VD| 100 | M16 | 201 | 204 | 168 | 33 | 24 | 16 14 18000 356
184451 |LV.A-100-24-AS-SST-M16x58-VD | 100 | M16 | 101 | 104 | 58 | 43 | 24 | 24 24 25000 308
184453 |LV.A-100-24-AS-SST-M16x98-VD | 100 | M16 | 141 | 144 98 | 43 | 24 | 24 24 25000 | 411
184455 |LV.A-100-24-AS-SST-M16x138-VD| 100 | M16 | 181 | 184 | 138 | 43 | 24 | 24 24 25000 | 411
184457 |LV.A-100-24-AS-SST-M16x158-VD| 100 | M16 | 201 | 204 | 158 | 43 | 24 | 24 24 25000 | 439
184461 |LV.A-100-24-AS-SST-M20x98-VD | 100 | M20 | 141 | 144 98 | 43 | 24 | 24 24 25000 | 432
184463 |LV.A-100-24-AS-SST-M20x138-VD| 100 | M20 | 181 | 184 | 138 | 43 | 24 | 24 24 25000 512
184465 |LV.A-100-24-AS-SST-M20x158-VD| 100 | M20 | 201 | 204 | 158 | 43 | 24 | 24 24 25000 552
184467 |LV.A-100-24-AS-SST-M20x198-VD| 100 | M20 | 241 | 244 | 198 | 43 | 24 | 24 24 25000 637
184471 |LV.A-100-24-AS-SST-M24x98-VD | 100 | M24 | 141 | 144 98 | 43 | 24 | 24 24 25000 532
184473 |LV.A-100-24-AS-SST-M24x158-VD| 100 | M24 | 201 | 204 | 158 | 43 | 24 | 24 24 25000 707
184475 |LV.A-100-24-AS-SST-M24x198-VD| 100 | M24 | 241 | 244 | 198 | 43 | 24 | 24 24 25000 828
184501 |LV.A-125-24-AS-SST-M16x58-VD | 125 | M16 | 125 | 128 | 58 | 67 | 46 | 24 24 28000 515
184503 |LV.A-125-24-AS-SST-M16x98-VD | 125 | M16 | 165 | 168 98 | 67 | 46 | 24 24 28000 567
184505 |LV.A-125-24-AS-SST-M16x138-VD| 125 | M16 | 205 | 208 | 138 | 67 | 46 | 24 24 28000 618
184507 |LV.A-125-24-AS-SST-M16x158-VD| 125 | M16 | 225 | 228 | 158 | 67 | 46 | 24 24 28000 646
184511 |LV.A-125-24-AS-SST-M20x98-VD | 125 | M20 | 165 | 168 98 | 67 | 46 | 24 24 28000 639
184513 |LV.A-125-24-AS-SST-M20x138-VD| 125 | M20 | 205 | 208 | 138 | 67 | 46 | 24 24 28000 759
184515 |LV.A-125-24-AS-SST-M20x158-VD| 125 | M20 | 225 | 228 | 158 | 67 | 46 | 24 24 28000 759
184517 |LV.A-125-24-AS-SST-M20x198-VD| 125 | M20 | 265 | 268 | 198 | 67 | 46 | 24 24 28000 844
184521 |LV.A-125-24-AS-SST-M24x98-VD | 125 | M24 | 165 | 168 98 | 67 | 46 | 24 24 28000 739
184523 |LV.A-125-24-AS-SST-M24x158-VD| 125 | M24 | 225 | 228 | 158 | 67 | 46 | 24 24 28000 914
184525 |LV.A-125-24-AS-SST-M24x198-VD| 125 | M24 | 265 | 268 | 198 | 67 | 46 | 24 24 28000 | 1035

DA DD B DD B DD DD B D D B DD D D B D DB D D D D D DD B | D D B D B D D B D D B D D D D B D D | D | > D>

s Ji ks HI§ A
BRRE - -30°C~100°C 184101
[sp. E=3 (wa BE 3=y
- FARAL 5005 [ PASURY » RF& FDA 2% (FDA CFR21 F] BB L R AR E » AR E RS
EU 10/2011) » BEMBIRE(TH » PIERBARRA RS BB R - (SRR A AR - 5
B BIRE 5 BEBE{T4ET



